Daily Practice — 25 \\f }% Daily Practice — 26 @% 2 Daily Practice — 27 \\f
1) 738,917 + 165,901 = 1) 381.07 +269.16 = 1) 528,916 + 317,505 =
2) 859.17-290.48 = 2) 5,681-2,749 = 2) 528.6-290.4 =
3) 27x82= 3) 95x38= 3) 37x42=
4) 2,874 +2 = 4) 891+3= 4) 2,404 + 4 =
5 341 o) 503 5 141
6) 87.33:10= 6) 267 x10= 6) 109 + 1,000 =
7) 8+3x6= 7) (5+2)x5= 7) 4+12+2=
x5, Daily Practice — 28 _ k\ﬂa' ’s."»\ Daily Practice — 29 @gg &, Daily Practice — 30 k\ﬂa'
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527.72 + 281.09 =

4,819 -2,162 =
92 x51=

18,904 + 2 =
9 1
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6.901 x 100 =

6+3x5=
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652,911 + 458,519 =
307.14 -209.18 =
45 x 63 =

78,960 + 5 =
1 2
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132.9+100 =

7x(10-4) =

429.08 + 364.97 =
6,529 -3,271 =
75x51=

9,612 +3 =
2 1

8 3
1.908 x 1,000 =

15 — (20-10) =




